Lesson 3: Practise Limit Bid Responses

Print off and fold down the middle.

NG34Bridge

and Opener’s Continuations

% A96

3v
1 West | North | East | South A AK8 You have four card heart support, 10 HCP points and
lv Pass | ? v 8752 one shortage point (diamond doubleton) so with 11
92 total points you have an intermediate strength
% K872 responder hand. With the same shape and 6-9
points you would bid 2v.
2A
2 | West | North | East | South 4 AK72 You have 4 card spade support, 8 HCP and one
1a |Pass| ? v 9865 shortage point (doubleton). That is a minimum
; J8928 responder hand, so you make a simple (non-jump)
raise to 2a. With one more point you would bid 3 4.
3 West | North | East | South | | A QJ98 v . .
1 P 5 v 11072 YOL_| ha_ve a fit for North’s hearts and 13 points,
v ass : A which is a strong responder hand. You know that the
& Kgl9 partnership has at least 25 points so you bid game.
4 West | North | East | South A K983 a4
14 Pass | 2a& ¥ A5 You have 9 points (including one shortage point) so
Pass | 34 Pass ? ¢ 1972 your first response is a simple 24, which shows a
% 876 minimum strength hand and a spade fit. Partner’s
rebid of 3a is an invitational bid that shows interest
in game (4a) provided you are at the top end of your
6-9 points. You accept the invitation.
5 | West | North | East | South A A765 4v
1v : X:(E?BZ Partner’s jump to 3% shows an intermediate
Pass | 3w Pass ? & 13 responder hand (10-12 points). You have 17 points
including shortage, an intermediate opener’s hand,
so, knowing that the partnership has at least 27
points, you bid game.
3v
6 West | North | East | South A A3 .
Partner has shown 6-9 points and heart support.
1v ¥ KQ3632 You have an intermediate strength hand, 17 points
Pass | 2w Pass ? ¢4 including three shortage points (singleton diamond)
% K4 and want to know whether partner is at the top or
bottom end of her range. Your 3% rebid invites
partner to bid game with 8-9 points or to pass with
6-7 points.
7 West | North | East | South 44
A A9874
14 Pass ? V- You have 9 high card points (HCP) but you have
¢ KJ987 great spade support and can add five shortage
& J96 points for the void in hearts. With 14 total points
opposite North’s minimum 12 points you bid game.
8 West | North | East | South A AQ9 2NT
1v Pass ? ¥ 954 You have 11 HCP. A bid of 2NT shows 10-12 HCP
¢ J765 and a balanced hand. Swap the ¥9 for ¥Q and with

a 13 HCP balanced hand you would bid 3NT.




Pass

9 West | North | East | South A AK9
1v ¥ J954 P?rr’]cner:gs_sh_own 6—9.p:)intr;°,. You haveh16 HCP.
Pass | INT Pass ? ¢ 176 Although it is just pos_5|b et a'_c partner has 9 HCP,
& AK6 enough for game, he is more likely to have 6 or 7
HCP. The percentage action is to pass.
10 | West | North | East | South A AK 2NT
1v ¥ J954 Z?trr']cner:gts_sh_owtn 6—9.[;:)inttr;¢,.tYou raveh18 I.-|CI:Z.6
5 ¢ QJ65 ough it is just possible that partner has jus
Pass | INT Pass - & CA1K6 HCP, enough for game, he is more likely to have 7-9
HCP, enough for game. Your bid is inviting partner
to bid 3NT if he is at the upper end of the 6-9 HCP
range. If he passes then 2NT has good chances.
11 | West | North | East | South A AK 3NT
1v ¥ J954 Partner has shown 6-9 points. You have 19 HCP. The
Pass | INT | Pass 2 ¢ KI65 partnership has at least 25 HCP so you bid game.
& AK6
12 | West | North | East | South A A3 Pass
1 ¥ 195 You have a balanced hand and 16 HCP. If partner
P p 5 ¢ KI6 had bid a new suit, a wide-ranging bid that could
ass | 2« ass : s AK632 have opening values or more, then you would have
bid 1NT, and if partner had bid a dustbin 1NT (6-9
HCP) then you would have passed. Partner has
shown 6-9 HCP so your chances of making game are
very slim. Even 2NT could be too high.
13 | West | North | East | South A K3 2NT
1 v KI5 You have a balanced hand and 18 HCP. Unlike the
p p 5 ¢ Al6 previous example (Q.13), you are now strong
ass | 2% ass : s AQ632 enough to make an invitational bid of 2NT, asking

partner to pass with 6 or 7 HCP or to bid on with 8-9
HCP.




